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Arithmetic

1. There are 4 Numbers.The average of first
three numbers is 56 and the average of
the last three is 49. If the first number is
48, then the last number is:

4 K)ospgenagow, To63S5° Q0363 Soreelo éoa}age
Sifen 56, D56 Huedy Bowge Wifex 49, ¢3S
Sace3 Bogog 48 09008 DX Qdogg ?
Q. 40 8. 55 2. 89 &. 21
&@rodo Heedos
J0e5¢3 3 éogngo Joedd = 56
(a+b+c)/8 = 656 ——————— (1)
QX0 3 “(aogpag@ QJoedd = 49
(b+c+d)/8 = 49 ———————- (2)
3880 (1), (2) © Sod
((a+b+c)/8) - ((b+c+d)/3)= 56-49
(a+b+c) - (b+c+d) = 21
a+b+c - b-c-d =21
a-d =21
Boocsel Doy a = 48
48-d =21
DHB 2603}35 d=148-21=27
. The average temperature for Sunday,
Monday and Tuesday is 37.30C where
as the average temperature for Monday,
Tuesday and Wednesday is 38.70C. if
Sunday's temperture recorded is 400C
find the wednesday's temperature.
b, B, Soor¥aeo Bifen ¢aPYS 87.3°C ©d
50K 80, Hooif¥, entsaedoe Hifew c%&‘l;lg{éo
38.7°C whardo e 40°C wowd
engiaeso G fde dens.
. 85.8°C
. 88.5°C

Sepodo Beedos

v ed, B, Soaredo Hifew &%g@{é =37.3°C

N < < € € € < < < < € < <

9. 44.2°C
&. 42.4°C

(S+M+T)/8 = 87.8 ——————- (1)
RAore

v 8L, Soor¥, encaedo Hifen %S};@é =
(M+T+W)/8 = 88.7 ———————- (2)

3880 (1), (2) © Sood
((M+T+W)/8) - ((S+M+T)/8)= 88.7-37.3
(M+T+W) - (S+M+T) = 4.2
M+T+W - S-M-T = 4.2
W-S =42
W-40=42
3008563 ;\’)osp?g W = 44.2°C
3. A does a work in 10 days and B does the
same work in 15days. In how many days
they together will do the same work?
10 Ferod® A B2 09, 15 Sweos® B 33 o°8)
S O w08 DI AQ) Bered® IRt?
Q. 5 days 8. 6 days
. 8 days &. 9 days
A a8 5 Hr8 Satoed Dex &eren 10
B o8 H9 Hrd Bc50esd Km&gsﬁwm 15
A 2.8 82r&® 3D 09 aefo = 1/10
B 2.8 &%&® 32 H a0 = 1/15
A+B & 8 3D 50
9 = (1/10)+(1/15)
=(3+2)/30
=5/30=1/6
A+B & 509 $rgachaetd H§ e = 6
Alter:
(10x15)/(10+15) = (10x15)/25
= 6 days
4. A can finish a work in 18 days and B
can do the same work in half the time
taken by A. Then, working together,
what part of the same work they can
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finished in a day?

18 Feros® A 3D 59, B Hifo SerestI 9

Bohrieds. avacgtﬁw SOH) o“séoéé 28 &S o

D 9H)E0b.

D.1/6 H.1/9 2.2/5 & 2/1

A a8 59 Hr8 SatoeH e SParen 18

B o8 H9 $rd Bcsnesd Deptieren 9

A 2.8 8ers® 3D 09 aefo = 1/18

B 2.8 8ers® 3% 09 a0 = 1/9

A+B 2.8 Seres® 3D 0 aifo = (1/18)+(1/9)
= (1+2)/18
=3/18=1/86

&8 8% S® 1/6 D HPEHE0b.

. A can do 1/3 of a work in 5 days and B

can do 2/5 of the work in 10 days. In how

many days both A and B together can do

the work?

A 28 HS® 1/8% 5059 5 Serd®, B o0f HIS

2/5% %080 10 SFard®Sr GroBohiiot. &0

&5 EO &8 HID Y Bere® g Bosrieds.
.85 D92 273 &10

A2 DI 1/38 S0 HID Grg Bckotatd Dy

Seren 5

v A s D00 Hrg Sosed Heptieren 15
v @l dore B e DA Hrodiokoetd Heptieres

=25

T O e HAY SroBahed m;agsswe»
= (15x25)/(15+25)

= (15x25)/40

= t)%days

. A man uses train and car to reach his

office. If the travels 10km by car and
the rest of the distance by train, then the
reaches his office in 't' hours. If the
travels exactly opposite (10km by train,
and the rest by car), he reaches the
office in (t+0.5 hours). If the speeds of
train and car are respectively 50 km/hr
and 40km/hr, then how much distance
does he travel to reach his office?

2.8 ?.62@ B3 308 L0008 wHDH Ko Sroed)
108.8. 5°505°%0, QNS &rTe) Fend® [Hase
s’é’i’_ﬁg 938 t Hotren oo éegzé:, 28 3% 08
10 8.8.00 Beus®, ADS Broed) seds®
BS80St 0S8 t + 0.5 Hoen JcHo
Depdy Jen HoBoke % Srren SR 50
£080%0 40 &.80. /0. wond ES 80e3 $r0&

SR Sorfgie rdo Jod?

. 120 8.8, 9. 1408.%0.

%. 100 8.%0. &. 808.%.
DXGeas

v

v

PO = 8B/ Si1S0
Se&podo (Ksedo

Car + Train =t hrs

(10/40) + (x/50) = t
(50+40x)/200 =t

50+40x = 200t ————-—- (1)
@ ASore BF0FoS® ROV S8 DiSes wrRsorr =
Car + Train=t+ 1/2
(x/40)+(10/50) =t + 1/2
(5%x+40)/200 =t + 1/2
5x+40 = 200t+100

5x-60 = 200t —~————-——— (2)
(1), (2) o3 337358y
50+4x = 5x -60

x =110

Total distance

7.

10+x = 10 + 110
=120 km
A shopkeeper cheats to the extent of 10%
while buying as well as selling, by using
false weights. His total gain is:
825085 Sm, @é}&cﬁoé’eéﬁ 28 053“6 Sdyped
Er¥os® 10780 o Fotheedd. wsd Ingo
eSS0 ?
. 10% . 11%

2. 20% &.21%

DBYea:
v 100x(110/100)x(110/100)-100 = 21%

8.

The least number which when divided
by 5, 6, 7 and 8 leaves a remainder 3,
but when divided by 9 leaves no
remainder, is:

5,8, 7, 8 0&° 39&° grhod 3 Fo 3w, 98°
a?frzaom aPAOSG 8 Hoag:

. 1677 £. 1683
2.2528 &. 3363
DBYeas

v 2 SRS 98° FAydore erhosd I3 Sowy

9.

1683
The product of two numbers is 4107. If
the H.C.F. of these numbers is 37, then
the greater numbers is:

30 K)oaage: o0 4107, &°¢3 H.C.F. 87 esond
ToEBSE® ¢ domg ?
2. 101 8. 107

Q. 111 &. 185

DBYeas

v 525038 éoa)zgm 37X, 8Ty 98°Kodk0
v Sepodo ©Hsedo

v (3Tx)(8Ty) = 4107

Xy =3
(X’ Y) = (1, 3)
?‘bc‘g éosp§ 87y = (87)(8) = 111

10. 21 mango trees, 42 apple trees and 56

orange trees have to be planted in rows
such that each row contains the same
number of trees of one variety only.
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Minimum number of rows in which the
trees may be planted is:
21 SrQ0& B, 42 wdS Jew $odakn 56 T°Boe
B 5°9) Bo0S® Toerds. H8 SEHS® HreS
ey Doy G0t Y 2.BBERS Doy B @
&0%S0?
. 3
J&reeso 8 D
11.The average age of 36 students in a
group is 14 years. When teacher’s age is
included to it, the average increase by
one. What is the teacher’s age in years?
36 So0b dEghe Britn Bab 140, &t
B05H0 Een)E o, Difen S0 1K0.20R06.
€330 Sasrioy D 0.0 ?
Q. 31 8. 36 Q. 51
Jhregesos D
¢35t Sobiay = 87(15) - 36(14)
=51
12.The average monthly salary of 20
employees in an organization is Rs.1500.
If the manager’s salary is addd, then the
average salary increases by Rs. 100.
What is the manager’s monthly salary?
2.8 $oPS°Te 20 &igrbe J086 &r.1500. 53
20 wmroHo Eree KeodHEtodl, Jekd Hifew
85,100 DSB8, Hodesth S0 €80 ?
Q. 8».2000 8. 8.2400
Q. 8.3600 &. 54800
JSrgedos D
13.The average weight of a class of 24
students is 35kg. If the weight of the
teacher be included, the average rises by
400g. The weight of the teacher is:
24 drrhent) 53 e wthd) 358.4. S5
2505 EenE sl & Difex 400(r. HBNH0s,

.15 Q.17 &. 20

&. A&z

85 255 ?

. 45 8.2, 9. 50 8.2

%. 53 8.2 &.558.2
DBEPER508 @

v €355 et = 25(85+0.4) - 24(85)
= 885-840 = 45 8.2

14. The average of five number is 7. When
three new numbers are including, the
average of the eight numbers become .5
the average of the three new numbers is?
5 Romge Hifew 7. E°Ere 3 Yoageds 3632655 &9
8 éoa:zg@ Bifen 8.5 e9rrido evond g 36326 3
K)oaa?go Qdfen ?
2. 9 $.105 .11

J&rgesos

v &g 363 8 Yomge Swdo = 8(T+1.5) - 5(7)
= 68-35 =233

v 8 Xoage Qoedd = 83/3 = 11

& 115



